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o] o7t 5em o)A, 7} 942cm? ¢l 97159 =

D)12em @ 9em ® 8cm @ 6cm ® 4cm




6. = ez TrEolAle YA 9 FuE 7oA 2.

TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)
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3x3x3.14x8=37.68x[_|]
226.08 = 37.68 x| ]
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4ol g 2T 7L Bopo 2 shedvt vt 9r]% moel
RYgE TE0] I By 88 33l 2 Al F ekt SA
= AlEst L gyt o] ¢t Eo1E =9 R & FoHA L. (T,
ng o] T AzskA e
--30cm - _
5cm /
2cm ___________:_L’
\\
=1 cm?

| 2
> = 4239 cm?

B x
(HEE 97159 71)

=T7X7x3.14%30 = 4615.8( cm?)

(QFE Y7159 Bo)) & =2x2x3.14 x 30 = 376.8( cm?)

(&ol £ 97159 £H)

= 4615.8 — 376.8 = 4239( cm?)
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Aol Hol7} 153.86cm? Q1 Y7159 BWol7t 527.52cm? & o,
=
=

(Byoh)=(Euol)x2+(FH°l)

527.52 = 153.86 X 2 4+ 7 x 2 x 3.14x (%£9])
527.52 = 307.72 + 43.96x (=°))

(%=0°])= 219.8 + 43.96 = 5(cm)




10. & 97159 #3925 T840,

(& Y7159 Ha) =5x5x3.14%5
= 392.5( cm?)
(LEE Y7159 #3]) =6x6x314%7
= 791.28( cm?®)
oA 7 4759 Ful o] A=
791.28 — 392.5 = 398.78( cm?)




